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1 = goo E 600,000
2 = goo E 300,000
T3 ("] ooo E 115,000
T3 ("] ooo E 115,000
T3 ("] ooo E 115,000
T6 = ooo E 75,000
T6 = ooo E 75,000
T6 = ooo E 75,000
T9 = ooo E 58,000
T9 = ooo E 58,000
T9 = ooo E 58,000
T9 = ooo E 58,000
T9 = ooo E 58,000
T9 = ooo E 58,000
T15 = oogoo E 49,500
T15 = ooo E 49,500
T17 = goo E 47,000
T17 = goo E 47,000
T17 = goo E 47,000
T20 = ooo E 44,833
T20 = ooo E 44,833
T20 = ooo E 44,833
T23 = ooo E 42,500
T23 = ooo E 42,500
T25 = ooo E 39,000
T25 = ooo E 39,000
T25 = ooo E 39,000
T25 = ooo E 39,000
T29 = ooo E 34,500

1/2



ggd

T29

T29

T29

T33

T33

T33

T33

T37

T37

T37

40

41

T42

T42

T44

T44

T44

47

T48

T48

50

51

52

53

54

goo

goo

goo

goo

goo

ooags2

RN

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

opoono

goo

goo

goo

goo

goo

34,500
34,500
34,500
30,500
30,500
30,500
30,500
27,000
27,000
27,000
24,750
24,000
23,250
23,250
22,000
22,000
22,000
21,000
19,000
19,000
17,000
16,000
15,000
14,000

13,000
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